
Question1 

def solution(lst): 

    lst1=[] 

    for o in lst: 

        for i in o: 

            if isinstance(i,int): 

                lst1.append(i) 

    lst2=list(set(lst1)) 

    lst2.sort() 

    for o in lst: 

        if o[1]==lst2[1]: 

            print(o[0]) 

 

'''=========================''' 

 

 

Question2 

def solution(nums,target): 

    nums.sort() 

    for o in range(len(nums)): 

        for i in range(o,len(nums)): 

            if (nums[o]+nums[i])==target: 

                return [o,i] 


